AN\ N
NAANY
NN

1

G6410-S/72411/PO11105


Connie
文本框
G6410-S/72411/PO11105


NN \ N
ANN\\
N\ ANNNN

TN
NN




Ref Description Qty
1 Warming rack 1
2 Cast iron cooking grid 1
3 Cast iron hot plate 1
4 Flame tamer 4
5 BBQ body 1
6 Left side table 1
7 Trolley left side panel 1
8 Left door 1
9 Door assembly bracket 1
10 Trolley bottom panel 1
11 Wheel without brake 2
12 Wheel with brake 2
13 Trolley right side panel 1
14 Right door 1
15 Trolley back panel 1
16 Side burner 1
A Spring g?’fi 16
B Washer = 16
C M4x8 é]_ 2
D M5x10 4_ 4
E M6x10 h‘m 29
F Mo6x15 *e]m 16




Ref#l 1

ww",s ‘\\J“\r‘ "
—

A\

&

Ref#l11

16 PCS
16 PCS
16 PCS

-
©

WASHER &

M6X15
SPRING



3 PCS

M6X10



: \! .
LW X
%W ]

A\ Z

A\ AN




M6X10  {mm 5PCS



NS
N

RSN\

AN\
AN\
NN

AN
[
9,

dmm 4PCS

M6X10



=
=

L
~

NN
— /




Ref#5

|

fm 4PCS

M6X10



Ref#16

M6X10  {mm 10 PCS

MSX10  {mm 4PCS
M4XS  {mm 2PCS



M4X8 _ 2pcs

t

ide burners

The gas supply injector, when in place, simply sits inside the receiving side burner tube
and does not require mounting or coupling and is held in place by the support mounting
bracket.



ANNN
NN
NN

N



Ref#3

Ref#2







	主图
	G6410S芬兰款组装步骤 Model

	爆炸图
	G6410S芬兰款组装步骤 Model

	1
	G6410S芬兰款组装步骤 Model

	2
	G6410S芬兰款组装步骤 Model

	3
	G6410S芬兰款组装步骤 Model

	4
	G6410S芬兰款组装步骤 Model

	5
	G6410S芬兰款组装步骤 Model

	6
	G6410S芬兰款组装步骤 Model

	7
	G6410S芬兰款组装步骤 Model

	8
	G6410S芬兰款组装步骤 Model

	9
	G6410S芬兰款组装步骤 Model

	10
	G6410S芬兰款组装步骤 Model

	11
	G6410S芬兰款组装步骤 Model

	12
	G6410S芬兰款组装步骤 Model




